Chapter 5
PRACTICE TEST
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ma Assignment e—

Complete pgs. 306 - 307
Questions 1-6,7,8,13,14,15
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W =>Ch.5-Practice 'Tés—F
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Whot s +he entire radical form

of -3E2)°
Ly - 3,9{1_1 \ Option => 'R”

JE3)%(2).
WJE1(3 )

- -S54

2. What 1's the condition on the varioble

in 247In for the radicand to be a
real number ?

Ly 2\ In 3 “1,%__-5-31 E_C_L QP{—{QQ =>"D"
Nz O
3. What s the simplest form of the sum
-2x{6X + SX\IEX, X=20?
> ~2xex + 5xl6x Option=>"C"

4. Whaot s the product of V8HO and \Iéj 3

Ly 54O XANGV

| -

8?_0 , '0 Simplest form ?
C\:)‘\‘\'Qﬁ ="D"
N3240y - e
N ()RYR)BAINBIRIE
NSNS
1¥N10Y
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5. Determine QT\\\J oot of the ecbm-h'on)
A+1= 23X ,"Where x=223.

L, {:xd:'_})': (;\:' 26"3«:} Option=> ! B“

X+ 1t A+N9 = DI-X

Y+ 44+ X +H9-23=0

2+ I19%+26=0

(x+2)(x+13) = O

X+2=0 or X+13=0
X:“Q} ‘)(::—-ls
b
{’3(+roncous

©. \'Suppcssc‘: i\j%, 1S Wroitten In SimplesT
¥ :
form a8 alb , Where a 's a real number
and b 1s an mteger. What 1's the
value of b ?

Option => “C”
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I Order +he followin &ﬁumbers +rom
least+ to 8rcq+es+

8\1—d SJ— A2, Nieo
vy
w@“ ) &5) (o). =N@*Q) Nico
. a(m(n) = 4(25)&) = \N(BVQ)
- qu = \1'«‘50 = \leL

ovdeyr from least +o qreateste
33T, 6\!15‘) N6, GNZ

B. Express as a radical in Simplestform.

203n)(3{8n ) , n=0
11272
(Q_ﬁiOE.
1-12\12 N
(N Qz)cz D3 IM)
— 12N 2
ecz)cm\ﬂo

= 12nVl0 . (\Mzrg
| =122 (1+1242)
= 12nV10 + 144nV20
L =144 @)
= lzmno + 144 NRIE)
-2988
= llﬁ\i\O-‘r 2%%ﬁ\5
— 271 -
= —-12nN10 — 288 M\S
237

1

I

]
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13. You wish +o rotionalize the dencminator
in €each expression. B:‘) whot number will

Mou multiply €ach expression ? ‘\Esﬂ—f{:ﬁ
Joutr ONSwer.

a) _.fl'.? 3 HOU wou \d mu i pl ; oy \\_Q—)“.
VG -
b) ; ; Ju-
\;252): , You wou Id muHﬂply btj Y 3
d) 2 ou wou ld multply b @J.:I—JZ
5 J Iy
=9

M. For dramonds of comparable %UQ{HHHJ
ﬁc cost,C, in dallars , is related +o
The mass, m,in carats, by +he formula

p—

. C=0. What isthe costofa

M= | ( P

NT00 3-carat dramond ?
\ 700
&=/ [}
_ | 700/
(_) = C )
_ —100
qQCico)=C
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e _‘—I_éﬁyq Fries 1o ’FCJ.“{"I'OHCH!{‘C ‘i—he denominator
in the expression §Y2 +V3 . Is Teya Correct?

“2-N3
_J_—pﬁ@-\-' der\‘l-nC}J and explain ANy €Yrovrs
_ 6\”Lc: made -

.'!e\rq"’s. Solution

N2+ =(ﬂ“+r\/i\f2
N2~ E (2T /N N2 +HIS
:20\4+5\x@+ﬂ?§ \El
e W
= S+SG+ S
[ 2 s -
= 4541-61\(0
- 29
* !6\;&"& Solution IS correct !
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